Monday - LBQ
Multiplying mentally by partitioning

46 x 7
Partition 46 = 40 + 6
40 x 7 = 280 bx7 =42

280+ 42 =322



Monday - LBQ
Multiplying mentally by partitioning

3 x 525
Partition 525= 500+ 20+ 5

3x500=1500 3x20=60 3x5=15

1500 + 60 + 15=1575



Tuesday — LBQ,
Recognising Prime Numbers

How do prime numbers work?

13 has only two
factors - itself

K N and 1. Soitisa

prime number.

4 has three
factors - itself, 1

74 J, N and 2. Soiitis

NOT a prime
number.

Remember all prime numbers are odd except for 2
which is the only even prime number. 1 is not a
prime number as it has only 1 factor. Prime
numbers must only have 2 factors (itself and 1).


https://www.google.co.uk/url?sa=i&url=https://thirdspacelearning.com/blog/what-is-a-prime-number/&psig=AOvVaw2LtV6Ljtt9Gv44CGiXawaJ&ust=1588346919802000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCOiN1Ma7kOkCFQAAAAAdAAAAABAD

Wednesday — LBQ
Multiplying Decimals by Whole Numbers

When you use short multiplication to multiply a
decimal by a whole number it is exactly the
same as when you multiply whole numbers
except you need to make sure the decimal point
is in the same place in your answer.

24
x 4



https://www.google.co.uk/url?sa=i&url=https://www.rsc.org/cpd/resource/RES00001504/basic-numeracy/RES00001503?cmpid%3DCMP00003955&psig=AOvVaw3dfpuyR82sRe1b-HeCaLXW&ust=1588347147729000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCMCrwrC8kOkCFQAAAAAdAAAAABAD

My Maths —Angle Reasoning

/

Equilateral triangle
All sides the same length

All internal angles the same

Types of Triangles

\

2 sides the same length

kosceles triangle

2 internal angles the same

Right-Angled triangle
1 internal angles that is 90°

Can be either scalene or

k isosceles as well

Scalene triangle
All the different length

All internal angles different

www inksllearn (0&/

180°

Remember the angles in a triangle always add to


https://www.google.co.uk/url?sa=i&url=https://www.tes.com/teaching-resource/types-of-triangles-learning-mat-6406951&psig=AOvVaw2ZwNMeAV5oB5b9IH6dhUXT&ust=1588342300545000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCIC3lqeqkOkCFQAAAAAdAAAAABAS

How fo find the Angle of a Triangle

37°+24°+ ¢c = 180°
= 119°
c- il

Rer%ember a right angle=90° so these 2 angles
add to 90°. So if the right angle = 60° the left is
30° which leaves 60° for the angle at I.


https://www.google.co.uk/url?sa=i&url=https://tutors.com/math-tutors/geometry-help/how-to-find-the-angle-of-a-triangle&psig=AOvVaw1nLrsUr59na__O3Ly2DpzU&ust=1588342621640000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCPjLq8CrkOkCFQAAAAAdAAAAABAD
https://www.google.co.uk/url?sa=i&url=https://www.ck12.org/book/ck-12-geometry-second-edition/section/8.3/&psig=AOvVaw10iUBsvSDsnedISmFOs8Op&ust=1588342751281000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCNiqlY2skOkCFQAAAAAdAAAAABAD

My Maths - Converting Measurements

Length
1I0mm=1cm 100cm=1m 1000m=1Kkm

Converting Length

x 10 C >
multiply to divide to

convert larger lﬂﬂ £100 cnnuelrt s.maller
units into units into
m

smaller units P larger units
x 1000 Q > + 1000
km

Examples
3m =300cm 60mm=6cm 5.6km =5600m

2 ¥ km =2500m 7800m = 7.8km
a0 7 W 1000 7



Mass Capacity

1000g=1kg 1000 ml =1 litre ({)
g mi
x 1000 < > +1000 X 1000 C > + 1000
kg [
Examples
4.5kg = 4500g 3800g =3.8kg 6.5/ = 6500m|

0.25kg= 250g 145g=0.145kg 3400ml| = 3.4l



My Maths — Area of Triangles

What's the area of this rectangle?
Remember the formula for rectangles = length x width

10 cm

6cm




What's the area of the red triangle?

Notice the triangle is half the size of the rectangle

10 cm

6cm




Area of a triangle

height

< length >

Area = % length x height



What’s the area?

4 cm

8 cm
soraxa- S




What’s the area?

8 cm




My Maths — Rounding and Accuracy
Take a look at this website for revision of rounding
https://www.bbc.co.uk/bitesize/topics/zh8dmp3/articles

/zpx2qty

Rounding Poem

Find your|place
Look next door
5 or greater, add one more

All digits in front stay the same

All digits behind, zero’s your name

Example:

Round to nearest ten

6]3
6]5
524
5/2[8

60 435 — 400
70 462 500
520 7328 — 7300
530 7356 7400

Round to nearest hundred

Rounding to the
nearest 10,000
42,566 40,000

—

67,892 70,000

Look at the thousands

digit when rounding to
the nearest 10,000.


https://www.bbc.co.uk/bitesize/topics/zh8dmp3/articles/zpx2qty
https://www.google.co.uk/url?sa=i&url=https://www.onlinemathlearning.com/round-math.html&psig=AOvVaw2GtcEOoF_F-OVklZoWrLF6&ust=1588345270155000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCIj1uq-1kOkCFQAAAAAdAAAAABAD

My Maths — Two Way Tables

Like Do Not Like Total
Skateboards Skateboards DERIS
Lik
B 80 25 105
Snowmobiles
Do not l|I'<e 45 10 es
Snowmobiles
Totals 125 35 160

We use this table to answer many questions.

From this two way table we can see that 25 teenagers like
snow mobiles but do not like skateboards. Whereas 80
teenagers like both snow mobiles and skateboards.

Watch this video for how to complete a two way table
https://www.youtube.com/watch?v=U785Y-Q|-K8



https://www.youtube.com/watch?v=U785Y-QI-K8

